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1. 34 · 39

2. 34 · 36

3. 63 · 37

4. 83 · 57

5. 92 · 66

6. 66 · 38

7. 36 · 82

8. 99 · 73

9. 84 · 87

10. 75 · 38

11. 98 · 93

12. 45 · 61

13. 58 · 24

14. 29 · 65

15. 75 · 35

16. 56 · 76

17. 77 · 43

18. 58 · 65

19. 72 · 55

20. 72 · 56

21. 56 · 86

22. 76 · 94

23. 83 · 49

24. 73 · 89

Löse die Aufgaben im Heft! Wenn du die Felder mit den

richtigen Ergebnissen sorgfältig ausmalst, erhältst du eine

Figur.

Schriftliche Multiplikation
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1. 34 · 39 = 1326 13. 58 · 24 = 1392

2. 34 · 36 = 1224 14. 29 · 65 = 1885

3. 63 · 37 = 2331 15. 75 · 35 = 2625

4. 83 · 57 = 4731 16. 56 · 76 = 4256

5. 92 · 66 = 6072 17. 77 · 43 = 3311

6. 66 · 38 = 2508 18. 58 · 65 = 3770

7. 36 · 82 = 2952 19. 72 · 55 = 3960

8. 99 · 73 = 7227 20. 72 · 56 = 4032

9. 84 · 87 = 7308 21. 56 · 86 = 4816

10. 75 · 38 = 2850 22. 76 · 94 = 7144

11. 98 · 93 = 9114 23. 83 · 49 = 4067

12. 45 · 61 = 2745 24. 73 · 89 = 6497

Lösung


